AP Calculus The Chain Rule Critical Homework

Find the derivative of each function.
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Evaluate the derivative of the function at the given point. Use a graphing utility to verify
your result.
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Find an equation of the tangent line to the graph of at the given point and use the derivative
feature of a graphing utility to confirm your results.
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8a) Determine the point(s) in the interval (0, 27) at which the graph of
f(x) = 2 cos x + sin 2x has a horizontal tangent.
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9) AP MULTIPLE CHOICE EXAMPLES
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) An equation of the line tangent to the graph of 7(x)=x(1-2x)* at the point (1,-1) is
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